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Symbols

Symbol Denotes

n Number of real activities

p Number of partially renewable resources

S; Number of direct successors of node i in project network

J s-th successor of node 7 in project network

8; ji Weight of arc (i, j°)

Di Duration of activity ¢

Tik Demand of resource k by activity ¢ per period

Ry, Capacity of resource k

11, Set of periods resource k is available (I, = ™, [ + 1,0F] N Z)

1, Number of components in I

s Start time of the first period in the [-th component of II;

oj End time of the last period in the [-th component of 11




